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FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
b FE] ) AL 2 H 2 ) 10kV691%E B 4 110KV 1 IFAZ HEL 33 4589.9 2697.12
St FE] O R T {2 2 ) 10kV 6903 74 £& 110KV A IGAS i 32k 7621 1231.79
] (] o R it A L 2 ) 10kV 69534 A A1 4% 110KV A AS i 32k 2857.9 1470.32
i FE] ) 15 L i A ] 10kV 7661 A 2% 35KV AR M AL L 7776.9 652.42
A [ oA R L {3 b 2 5 10kV 724751~ 2% 35KV MR T AR H i 5196.2 95.86
T FE] YR) T 2L A3 F A ) 10kV 5781 £ £k 110KV i ¥ A% L 10392.3 322.34
=] (] o R it LA FL 2 ) 10kV683 X 4 2 110kV A AZ HL 3k 7014.8 709.54
=Rt ] o) 60 - 3 L 2 ) 10kV763F2 JH £k 35KV AL M A H b 11258.3 1730.54
T FE] ) 60 L b 20 ] 10kV 7771 0% 2; 35KV FE AL H 10392.3 1050.59
Tl [ o T L {3 2 ) 10kV 7267 45 2% 35KV I A8 5802.4 328.92
EERNiEl (] o R it A3 F 2 ) 10kV778 5 15 2% 35KV FE AL HL 10392.3 646.09
o il (] o4 R T {3 A ] 10kV576ifi VH £& 110k V i Y5 A2 L ik 9699.5 616.95
i (] %) R L 2 ] 10kV698TT I T IT 2k 110KV AL HE 32k 10444.3 0.04
2 rh i [ oA I L {3 i 2 ) 10kV 72545 I 25 35KV M2 B A% H i 5802.4 0.02
= b FE] ) I EL A3 H 2 ) 10kV697 T I FT 1 £& 110KV A ITAZ FEL sl 9563 0
3 o T (] o4 R T L 2 ] 10kV 6894 Ax £ 110KV A AZ H 32 6928.2 0
bl [ oA I L 2 ) 10kV 792524 £ 35KV 2 P AL Hi i 3983.7 0
W rh ] ) 2L e L 2 ) 10kV 6873 1L 2% 110KV IR AZ HL 3 8573.7 0
EERNiEl ] o 60 5 £ 3 L 2 ) 10kV 76475 35 25 35KV FA JH AL FL 10392.3 0
i FE] ) 15 L i A ] 10kV685%: £ 2; 110KV TGS H, ik 11258.3 0
Sl FE] ) 60 L A 2 ] 10kV696 7 #HFA £k 110KV I IGAZ H 3zl 8054 0
o T FE] 4 R T {2 2 ) 10kV727 55 F I 45 35KV M2 B AR HL i 6322 0
o T FE] o4 R0 T {3 2 ] 10kV688F 2 £ 110kV A AZ H ik 6928.2 0
iy FE] ) 60 L A ] 10kV7834 )11 4% 35kV 2 FH A B 7776.9 0
i (] o5 R L 2 ] 10kV573774 % 2% 110k Vi Y5 AL R 32l 7880.8 0
i ] R4 4K T i E A 10kV926 5[ B 2% 35KV Iifi v i AL HL 6928.2 219.56
T o [ A A T A 2 ) 10kV992+1 4k 4% 110kV b EAR FL o 6928.2 560.03
i [ 5% A 4 7 1 A ] 10kV 76741l 5 2& 110KV it 111748 H il 10998.5 563.5
2 o i ] A AR T A i A ] 10kV 7317 Fiij £5 110kV 7E FH A2 HL 6235.4 1912.32
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% o 7 [ %) A 4 T ik A ) 10kV527 % F4; 35KV I P A L 8313.8 1672.84
i [ A A T 2 ] 10kV5287 -4; 35KV % A2 HL Uk 7880.8 1055.84
T b i ] X A4 7T 43 EE 2 7 10kV529% 7R 12k 110kV A7 7] AR L 6928.2 1219.16
SIeeE] [ 0 A T 42 2 ) 10kV56735 74 11 £k 35kVIRZR A HLTE (S k) 6928.2 1439.36
% o 7 [ %) A A T i A ) 10kV507:4% 57 2% 110KV 7 7] A2 HL il 6928.2 2738.36
2 ] A Ak T A i A ] 10kV 8864174 £& 35KV IEAR AL R 7880.8 20.03

T o T [ A A A A 10kV 82535 & 11 £k 110kV 4R AR H 3 6928.2 16.96

o [ 0 A A T A2 2 ) 10kV 8444k X 75 45 35KV {4 148 HL 3983.7 31.76

% o 7 [ %) A A T i A ) 10kV 827 £ 2% 110kV AR AL L 32l 10115.2 212.76
T oh it FE] 5% A A 717 4t Fh 2 10kv 9230 X1 & 35KV il o P A L 10738.7 1645.83
b [ A A 7 A A 10kV 929!/ F £ 35KV il o i AR L 8313.8 1403.21
i [ 5% A 4 77 i A ] 10kV 729 2% 2% 110KV 7 BH AL HL il 6235.4 657.72
2 [ A A T 3 2 10kV841Z2 K 1125 110kV AR A2 HL il 10998.5 2252.9
= b ] %A A T 2 H A ) 10kV5157 3l £k 110kV £ 7] A2 HL ok 8313.8 1780.81
2 th [ A Ak 7 A A 10kV887HHEA 25 35KV A AL FL 10738.7 92.86

bR IR %) A A T i A ) 10kV524% AR 1125 110KV £ Ji] A2 HL il 6235.4 1425.62
= [ A 3 A 10kV 56431 7t £; 35kVIR AR A Bl (kD 6928.2 2666.06
Wk T ] X A4 T 43 He 2 10k V52338 I & 110kV A7 ] AR L ol 9786.1 875.78
o [ A A T A A ) 10kV 84477 2 110kV A PR AL HL 3k 10738.7 1893.85
o IR 6% A A T it Ei 0 ] 10kV8433 G ik 2k 110kV /R A2 HL 3k 6235.4 1674.52
2 oy ] A AR T A i A ] 10kV725% Ji& 4% 110kV 7E 32 HL 6928.2 2126.36
o [ ) A A T A 2 ] 10kV514 AR 2L 35kV S AR Hi v 10998.5 1405.95
T b 7 [ A A T A A 10kV7225% 7 11 2k 110kV 3 BH A2 HL 3k 8313.8 4062.93
o T ] A A T 3 2 10kV 75847 37 15 £& 110KV it 11122 HL il 10738.7 251.26
2 [ ) A A 3 A 10kV83441 7 £k 110kV A PR A2 HL il 5975.6 0.58

2 b i ] X A4 7T 43 He 2 10kV506 74+ 11 £k 110kV A7 ] AR L 10998.5 1914.6
T o [ A A T A 2 ) 10kV5253 2 4% 110kV A7 ] AR L 6235.4 786.02
e IR %) A A T it A ) 10kV52147 1125 110kV EE A+ A2 L 9560.9 2079.42
2 o i ] ]R) A A T A He 20 ) 10kV 76547 11 4% 110KV it L1 AR L 6928.2 1727.96
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i I [ A A Tl AR HL 2 ) 10kV 73243 #5245 110KV & PHAZ HL 6235.4 1746.02
) ] %A A T 2 H 2 7] 10KV 8463 2& £k 35K V¥4 1748 HE 3 7014.8 44.04
b i ] W% A A T A H 2 ) 10KV 877 A1 4% 35KV I AU AE L 8313.8 554.94
3 7 ] W% A A T 3 E 2 ) 10kV 7301 5L 2% 110kV 5 PHAZ H 6235.4 1350.82
SRR [ 9 A A T 3 B 2 10kv835L T4k 110KV £ RAZ HL 3 10738.7 2437.96
b ] R4 4K T i E A 10kV 84577 75 “k £k 35Kk V¥4 1748 HEL 6928.2 185.76
b i ] ]%) A A T A He 2 ) 10kV 727k 35 2% 110KV 5E BHAZ FL sl 8313.8 2373.04
o 7l [ ) A A T 3 2 10kV 568 LI 25 35KV AR AL LG (AR 4243.5 572.2

SRR (] 9 A A T A 10kV704 | 3ifi £ 110KV i PHAZ HiL i 7066.8 374.64
il ] X A4 T 4 He 2 10kV 8853 1.4k 35KV AR AL HL 10738.7 941.66
i ] ]R) A A T 2 H 2 ] 10kV 504 R 1712k 110KV A1 J] A FL sl 9786.1 442.78
o i ] 4 AR T 3 2 ) 10kV627HF 1R 2% 35KV B VAT VH AR FL 9786.1 983.08
Ty FE] %) A T A H A ) 10kV5057: + 11 £k 110KV £ VAT A8 HL 3 8400.4 723.02
T ] o A A T A EL 2 ) 10kV521FG 112K 110KV A J] A% L3 9786.1 872.58
b T ] ] 4K T i E A 10kV 8881% K £k 35KV AR AL HL i 10738.7 1278.31
o T [ A A T A 10kV5137b £ 4% 110KV # A AL FL 8313.8 1509.48
i ] 4 A 4K T E 2 10kV 883 i+ £k 35KV I A AL H i 10998.5 414

b ] /%) A A T A Fi 2 ) 10kV520 Stk 35KV S %248 HL i 8400.4 890.42
e [E] [ A 4 T it EEL A ) 10kV 826111k 2% 110KV AR AR HiL 2k 9179.9 541.82
o T ] R AR T A B A ) 10kV8757H] 7R £& 35KV AL H i 10115.2 633.56
&b FE] %A A T A H A ) 10kV 545k 51 £k 35KV 5K 2= A8 Hi i 9560.9 2920.22
b i ] ]%) A A T A He 2 ) 10kV522 7R 72k 110KV A J] A% L3 6928.2 823.26
BT ] A AR T A3 i 2 ) 10kV824Z2 I £& 110kV PR AR HL 10998.5 1283.65
S} ] R AR T 3 B A ) 10kV5127 +f £& 110KV # A AL FL 8400.4 701.72
b ] 4 AR T i H 2 10kV99677} 1L £k 110KV b =7 AR Hi 10738.7 961.06
o i ] ]%) A A T A HE 2 ) 10kV 72633 [l 2% 110KV 5E PH A% L 6928.2 4133.46
i ] ] A Ak T E A ) 10kV 8334 24 £k 110kV 4P AR AR Lk 9786.1 1356.08
3 o 7 ] AR T A B ) 10kV831H7 HE 4k 110KV A PRAZ FL s 6928.2 1423.76
& ] 4 A AR T H 2 10kV/983 i 1 V45 2k 110kV b 3 AR F 2598.1 701.68
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% o 7 [ %) A 4 T ik A ) 10kV 7053 7 2% 110kV 7 FH 22 HL il 6928.2 131.96
i [ A Ak 7 A A 10kV7247F F T 11 [el 2% 110kV 5E FHAZ HL 2 11171.7 1124.26
7 o i ] ] A Ak T E A ) 10kV 529 5 2% 35KV % i AL FL 5196.2 236.61
o i ] A A Ak T B A ) 10kV707 1 22 2% 110KV & PHAZ FL 8313.8 3221.14
% o 7 [ %) A A T i A ) 10kv 842tz 2k 110kV A fR 22 HL 7066.8 2865.94
i [ [ A A T 2 ] 10kV5143 A 1T 25 110KV £ {7 A2 HL gk 10738.7 1454.36
T o T [ A A A A 10kV5167F] [ 2% 35kV X AL L 8313.8 3124.84
o Ry ] A A Ak T B A ) 10kV525# 5 2k 35KV it R AL L 10998.5 2318.4
o [E] 3] A4 TH fAE H 2 ) 10kV994H 8 25 110kV b = U AZ HL i 9093.3 2138.54
2 ] A Ak T A 2 ] 10kV51647 X 4k 110kV A7 ] AR L 10738.7 1781.36
b [ A A 7 A A 10kv 838 II [m] 2% 110kV A PR AL HL 3k 8400.4 0.32
T o 7 [ 0 A A T 3 HL A ) 10kV7087: 1 2% 110kV 5E PHAZ H 6928.2 0
2 [ A A T 3 2 10kV927 Kl <7 45 35k v Jifi Tl ¥ AL H 6928.2 0
o 5] ]%) A A T A FE 2 ] 10kV 54645 I 25 35KV 5K = 48 FL i 8400.4 0
e FE] 5% A A T it Fh 2 ] 10kV83241 117 2% 110kV /AR 38 L ik 8400.4 0
T T [ 9% A 4 7 1 A ] 10kV 82341 4K 4% 110kV AP PR AL H ik 8400.4 0
% o 7 [ 0 A A T 2 2 ) 10kV5634% 1 £k 35KV AR AL Ll (A4 10998.5 0
2 i [ A 7 3 A 10kV 62614 H £k 35KV i {915 AL HL 7066.8 0
T FE] 9% A T it EE 2 ) 10kV 990Kt 25 110kV b 7 AR L i 9526.3 0
T i [ A T A2 2 ) 10kV5471ili &5 £& 35KV 5K 2= A8 Hi i 10998.5 0
2 oy ] A AR T A i A ] 10kV706 5% Hi £k 110kV 7E 32 HL 8313.8 0
o T [ A A 7 3 A 10kV 6177t 1 2% 35KV ] I AL HL o 6928.2 0
b i ] ] A Ak T E A ) 10kV986%: i+ £& 110KV b = AR F 8313.8 0
iy [E] 5% A A 717 it F 24 ] 10kV 61614 1 2% 35KV R T AL HL 8313.8 0
2 [ ) A A 3 A 10kV884 K V4% 35KV IEAR AL B 2598.1 0
2 b i ] X A4 7T 43 He 2 10kV513 K ¥F 11 £k 110kV A7 ] AR L 10998.5 0
eh T FE] 9% A A T it EE 2 10kV517 #4477 2% 110KV 7 7] A2 FL il 9526.3 0
i [ 5% A 4 7 1 A ] 10kV515 % 5% 2% 35kV A B 6928.2 0
e N FE] o) A A T it Fi A 7] 10kV521 X 552k 35kV AR Bk 8313.8 0




2025 (=FF) BT LRBEERITTFRER

FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
2 [ A A T A B 2 ) 10kV 7285 H14; 110kV 5E FHAZ L 32l 8400.4 0

Wb | RO A X 10kV 7121 5 2% 110KV & A5 22 HL il 8054 3775.3
Wb | [ R b X A e 10kV81141E [ 4k 110kV AR XBAZ L ol 9563 1493.2
kT | R T R X A 10kV8127 | 2% 110kV 2R X8 AR FL i 9563 1104.1
Wby | R bR I XA O 10kV 889 HHL 45 2% 110kV L5032 HL 8054 3530.5
by | R b X s 10kV 9674k i1 £k 110kV P B AR HL vl 8054 2770.2
Wy | R T X A O 10kv958 771k T £k 110kV HT 48 AL FL o 9563 3621

Wby | R R XA 10kV928—H 1%k 110KV 5, AR L 9563 989

Wby | R bR I XA O 10kv925— 110k VI H AR L 3l 11622.1 1428.48
Wby | RO A X A 10kV 9321 7 £k 110kV 5k 7 AR L 8054 3741.39
Wb | R e X A e 10kV832FF ¥f T £k 110kV 7R 50842 HL ol 8054 4097.95
by | R TR X A O 10kV 88717 Z 4% 110kV JE 2B 42 HL il 8054 2123.6
Wohg | R T X A A 10kV970:0r 1 2% 110KV HT 3822 HL i 11194.1 738.78
Wby | O X 10kV 8063 ¥ 4k 110kV 3L HEAR HL vl 11194.1 472.68
Wby | R R X A L 10kV 8624 5% 2% 110kV JE 2638 L ik 9563 657.8
by | R R e T XA EE 10kv986 [X 1T £k 110kV P 2B AL H ik 8054 1640

by | R b X A 10kV896:H ] £k 110kV I 2BAR L ik 8054 257.8
Wb | O A X A 10kV705 K /K 1T £k 110kV HT A A2 HL ol 9563 2014

Wb | [ R e X A e 10kv8144k T.4; 110kV 7R 5042 HL ol 8054 1911.6
Wby | R T XA EE 10kV 977441 4% 110kV P 2B AL H ik 8054 734

Wby | T AT AR X A 10kV 8953k 1t £k 110k Vb 5038 HL il 8054 3658.39
Wby | R o R X 10kVv8881li Py £k 110kV I BAZ HL vk 8054 2884.5
o | R e X A e 10kv992% I £k 110kV P B4R FL 9563 627.2
Wby | R AT A O 10kV 7054 i 2% 110kV 5 A+ 22 L il 9563 1534.5
Wby | RO X 10kV851 ¢ i £; 110kV L5038 HL 11194.1 3371.08
Wb | [ R b X A E e 10kV 7264 55 [ 111 2k 110kV HT A A2 HL o 9563 888

Wby | R X e 10kv937fRF T £& 110k VI A2 HL ok 9563 1634.77
Wby | R o T X AL E 10kV 8196 55t 2% 110KV AR X642 L ok 9578.2 2314.95
b | R AT X E e 10kV 71048 R 4& 110KV 7 A5 A2 H ik 7413.2 660.96
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by | R b I X A E 10kV 93137 BH £k 110KV 43k - A HR 32l 9563 3353.9
Wb | RO A X 10kV716>% HI 11 2% 110kV HT A AZ H ol 9563 501

Wby | R AR X A 0 10kV922i 7R £k 110kV 5k AR L 8054 1779.8
by | R R XA 10kV 839 F1 L 110kV 2R X8 AR FL i 9563 932.1

by | R b I X A B s 10kV8994> fili £k 110kV I RBAZ L ik 8054 1725.7
Wy | R bR X A 10kv833<EF} I £ 110kV SR AZ LBk 6235.4 591.32
Wb | [ R e X A E e 10kV963Hi i £k 110kV P B4R HL o 11622.1 3385.55
Wrhng | R o R I XA 0 10kV811%} 5t £k 110kV 3L AR H 11194.1 264.58
Wby | R bR I XA O 10kV/933 I3, 2% 110k VI H AR L 3l 8054 1366.2
Wby | RO A X A 10kV 926+ # £k 110kV 5k 7 AR L 8054 2838.17
i o8 22 7 3 X A L e 10kV708%i S5 I 1 £k 110KV T A+ 22 L il 9563 1004.99
o | R e X A e 10kVv8134: BHITZk 110kV ST HEAR HL il 11194.1 1021.28
Wby | R T X E e 10KV 854 K] £; 110kV JEABAZ 3k 9563 410.1

Wk | [ R b XA e 10kV924iK b £ 110k V35§ AR H 8054 1816.1
Wby | [ O o A X A 10kV 9407 #R £k 110KV BT AL L ol 9563 1784.09
Wohng | R o R I XA 0 10kv816 1)1k 110kV 7R 542 HL il 8054 2057.5
Wby | O X A 10kV7354i Bl 2% 110kV AT AL L il 9563 1937

Wby | R b X s 10kV5684L K11%k 110kV K57 7] A2 HL o 11194.1 1144.78
Wb | [ R e X A e 10kV8174# TG4k 110kV 3L AR H B 6235.4 1570.42
by | R o X AL e 10kV 886/ # £k 110kV JE X6 A HL il 8054 2079.9
by | R e X A s 10kV'725% H 2% 110Kk VT A+ 32 HL il 9563 954.99
Wb | R e X A e 10kV 7157 4 2% 110kV HT A A2 HL ol 11194.1 911.34
o | R e X A e 10kV 879 24 £; 110kV I XBAR H 9563 3605.1
o | R e X A e 10kV 965 £& 110KV P4 2B AL HL s 8054 25.8

by | R b X A s 10kV9354: 4 2% 110k VI Hh A2 HL il 9563 1358.4
Wb | [ R b X A E e 10kV982 2 ifF £; 110kV P 3B AR HL 8054 44.7

Wb | R b X A b 10kV/816 3 i 12% 110kV 3L AR L 11194.1 1209.27
Wby | R o T X AL E 10kV 940 JFf 2% 110KV 4 48 HL il 9563 956.2

by | R e X s 10kV968 | it £k 110KV 338 FL il 9563 1039.2
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Wb | R X A e O 10kV831 4 2k 110KV A 5 A% FL 3 6235.4 2714.11
Wb | R o K Ee 10kV 885l F 2% 110KV b 58 A% F 8054 1730.45
Wby | R o R X Ak 10kV966 LR A1 IT £& 110KV P4 X8 A2 HL 8054 2873.66
Wby | R T X e 10kv9354¢id 11 £k 110KV 7 34 HL 6235.4 1347.72
Ty | R R A e 10kV898 g # £k 110k V b5 2% HL 3 9563 3325.39
Wb | R o A KA Ee e 10kV 858 /i1 & 110KV b 584 H 8054 2702.2
Wby | R o R X Ak 10kV863 2 I IT £& 110kV JE B A2 HL vl 9563 132
Wy | R e A X O 10kV933 /5 BH2k 110KV T 3 A HL 9563 1102.1
Tepl | e AR A e 10kV 563451 110kV 7K HEAZ HL b 9563 0
woby | O R X A 10kV861 /735 11 £& 110kV JL B A2 H i 9563 0
Wb | R AR X E 10kV558(1) 1 2% 110KV 7K FE A% HL i 9563 0
BT | R e TR X AP e 10kv971 T4 110KV AL LU 9563 0
Wb | R X A e O 10kV842 R R L% 110KV A3 50 A% HL i 9563 0
by | O o XA 10kV 91737 1 2% 110KV H A2 HL 8054 0
Wb | FE T X E 10kV932K £ 114% 110KV I8 i35 FRL 3 8054 0
wopy | R b X O 10kV916 7 i £k 110KV Ik A% H 9563 0
g | e X A O 10kV956°% T* £k 110KV T I AL HL i 8054 0
woby | O R X O 10kV9187 1 2% 110KV 41k A2 HL i 8054 0
Wb | R AR X E 10kV 86817 45 [ 1T £k 110KV b 58 % HL i 8054 0
Wby | R R AR XA H e 10kV 8901 4 & 110KV b 558 4% HL i 8054 0
Topy | R eI X g e 10kv830fi K2k 110kV SCARAZ LG 11194.1 0
Wb | R AR X E O 10kV979H HR £k 110KV 74 8 A% FL v 10392.3 0
Wby | R X A 10kV 8174 117 £k 110kV 7R 5042 L ol 8054 0
Wb | R T AR X 10kV 9155 X 2% 110KV H1 A% HL i 8054 0
worh | R o A K A E e 10kV914HL L LK 110KV 3k A% HL 3 8054 0
Wby | R R O 10kV934%% [1d £ 110KV ik A% FL 3 9563 0
Wby | o R X A 10kV7312% i 2% 110KV A A4 L o 9563 0
Wby | N R XA H 10kV993% 5= 11 £& 110KV 74 58 42 HL 3 11194.1 0
W | b X A O 10kV 709464 2k 110kV A A% FL i 8054 0
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Wb | T A X E 10kV966 3 ] 1122 110KV kA2 H v 9563 0
woby | R X A 10kV8374: Bk 2% 110kV AR X8 A2 HL i 9563 0
Wb | R A X E 10kV934 B e 2% 110KV AL FL 11194.1 0
W | R AR X e 10kV937K K T £k 110KV 9k A2 HL i 9563 0
Wb | FE T T A X E e 10kV 897 {1 £k 110KV b 5 A8 H v 8054 0
Wb | N R A X E e 10kV9614L K 2% 110KV AL HL o 9563 0
Wby | R o R X Ak 10kV73670 T 2% 110kV i A A2 HL 3l 9563 0
F= Rt I EE R S R R LS A Y 10kv981fE X T £ 110KV P8 50842 H v 8054 0
Wb | T T A X H e 10kV7074E M 2% 110KV 5 22 HL 3 8054 0
woby | O R X A 10kV831 5 R 2k 110kV 3CHEAZ HL i 111941 0
Wb | R AR X E 10kV 83255 f: i1l £ 110KV 3CHE7E HL i 9563 0
TR | R TR X A e 10kV572R 125 110KV A el 22 HL b 9563 0
Wb | R X A e O 10kV542 /5 5 £ 110KV 7K HE A2 HL 3 11194.1 0
by | O o XA 10kVO21 A< K 2% 110KV 41k A2 HL 9563 0
Wb | FE T X E 10kV923 i & 110KV H1 728 FL i 3429.5 0
Wy | R e X e O 10kv927:: BHV £k 110KV 1S P A% F i 11194.1 0
Wiy | e A X A O 10kV 9635 fE [ £k 110KV B 410 4% HiL i 9563 0
Wb | e A X g e 10kV8364E 5 £k 110KV AR AR A2 L 9563 0
Wby | e R X A 10kV864 =11 2% 110kV JE B A2 HL vk 9563 0
B | R A X Ak 2 ] 10kv543L K2 110KV A A2 HL 5 8487 2791.2
B | e R X {2 10KV 741 44 35KV e A2 HL 3 3897.1 709.38
Wb | R A X A ] 10kV 81741 4% - £ 110kV /> [ A8 HL 3 10911.9 1192.92
by | R o R A X 10kV515 4<% 1T £& 35KV 7R A2 L it 7967.4 1406.42
Hehl | ERE AR AR | 10kV5s36HI R FILk 110KV A A2 HL 5 4156.9 2555.42
Wb | R A X A A ] 10kV568%% HL £ 110KV T A A2 HL 3 8487 582.55
Woepry | R A X A 10kV 740 BH £k 35KV R FH A2 HL 3 2944.5 346.3
Wby | A2 X A 2 ] 10kV 714555 & 110kV b FH A% FL i 10998.5 3684.4
W | R TR X i 10kV 8137 i1 2% 110KV i A A% FL i 2598.1 1543.68
Teh i | R AR XA A 10kV5637T i £k 110kV A A5 A2 L i 5802.4 1424.82
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by | R TR A (XA A 10kV 8154 A 45 110KV | 3548 H 9563 531.4
Wb | R R X A A 10kV 81574 1 £k 110kV /)y AR HL 2k 8487 502.2
Ty | AR X A 10kV 7387t & 2% 35KkV i {22 FL 2598.1 746.75
LT | R T A A XL E A 10kV 8195 FH 11 £& 110kV B A AR H 8487 1285.58
Loh | R R X A E 2 10kV 8225 B 2% 110KV A 22 HL 8487 1867.8
Wb | R R X A N 10kv8244L 2 £; 110kV AR ik 10911.9 1208.42
b | R T A Xt A 10kV8227% HL4; 110kV /) A2 HL ok 8487 751.3
o | R T A4S Xt E N 10kV Y5 11 £:826 110kV H A AR HL 10998.5 3408.87
Loh | R X A E 2 10kV 80915 3 £k 35KV IR A HL Bk 7742.3 1131.04
Wb | RO A XA LA F 10kV5907K i £k 35kV 7K 75 48 HL 10998.5 1027.4
LT | R T A2 Xt E A 10kV 808 5 FE £k 35KV {5352 HL v 7880.8 543.64
Wby | R A X H A 10kV 8087 7 2% 110k VA A2 HL il 8487 1118.2
by | R A (XA A 10kV713JEFH £ 110k VL A A2 HL 7880.8 3976.94
Wk | R T A XAt A 10kV563[H & £ 110KV HT A AR B i 6668.4 2869.32
Wb | R R X A N 10kV5541 4% 110kV K 4522 HL ol 10911.9 1636.72
Wb | R T A A X E N 10kV591/) F £ 4L 35kV /K 7548 B 8487 1031.45
oy | R T RS X A 10kv824 K H 11 £ 110KV /)N 138 HL i 8487 708.4
Wby | R A XA L 10kV/54587 A 2; 110kV K 45 22 HL ok 5889 2228.6
Wby | R A X H A 10kV5641% 5 FE £k 110KV T A 22 L il 6668.4 4557.52
Wk | R T R A X A 10kV736 K H £k 35KV 7 FH A B 2598.1 50.68
b | R 2 (XA A 10kv816 b 11 4k 110kV /) 5 38 HL il 8487 354.5
Wb | R T K 2 Xt R 10kV588%E K B 4L 35kV /K 75 22 L uh 8487 470.65
Wby | R A X H A 10kV577 5 %2 2% 110KV T A+ A2 L 7880.8 36.04
Wrbng | R A Xt E A 10kV565 7* £k 110kV K 45 A2 HL il 8487 2065.4
by | R 2 (XA A 10kV 50852 i £k 35KV B R A B 8487 168.9
Wb | R A X it H A 10kV551 7 < [78l £ 110kV K 422 HL ok 6322 2714.5
Wby | TR Xt LA 10kV 8094 12k 110k VA A2 L ik 8487 3098
WrhnT | R AT A XAt S 10kV 807k e £& 35KV {5 4 AL FL i 6322 961.2
b | R A (XA A 10kV813 A PRIzt £k 110kV_E AR H ik 10911.9 1238.72




2025 (=FF) BT LRBEERITTFRER

FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
Wi | R R X A A 10kV/557 74 18 £; 110kV K 45 32 HL 8712.2 1709.76
o | R R k2 XA A 10kv814 i = 11 2k 110kV /)y AR HL 2k 8487 2022

by | T A X LA 10kV 04T A £k 110k Vi A A2 HL il 9179.9 1261.62
Wby | R A X H A 10kV553 74 K 2k 110KV A 45 A48 i il 8123.3 1752.14
Wby | R R A X AL A 10kV5174k A 1T 2k 35kV 2R S AL HL 2598.1 16.78

wohp | R R k2 XA A A 10kV5061# 31 2% 35kV B £ A B 8487 15.8

Wk | E RS A X S F 10kV i & 11 £k823 110kV /)N F AR FL B 8487 952.2

Wby | R A X H A 10kV 70674 Jif 2% 110kV 1L BHAZ HL ki 9179.9 984.52
Wby | R R A X AL L ] 10kV/ 5523 7 £k 110kV AR 7842 H il 5456 1315.2
Wby | Y o R X A LA 10kV722/NH 25 110kV JE FHAZ H 2k 6928.2 1061.66
Lerb g | R R R X HL A ] 10kV 816114 £k 110kV 3 A48 L il 9563 1892.7
Wby | R A X H A 10kV705#1 X 2% 110kV AL BH AL HL il 4589.9 2807.21
by | R A (XA A 10kV5224 75 AR £k 35kV AR KA L 8487 1601.4
Wb | RO A XA A 7 10kV566745 Pk 2k 110KV H7 A% A5 H vk 9526.3 437.04
Wb | N TR X A LA 10kV827 [ 7 2% 110kV /N F AR FEL 10998.5 902.55
Wby | R A Xk H A 10kV514 %5 2% 35kV AR KA R 8487 2733.9
Wb | R A X A A T 10kv807 I+ 4k 110k VA A2 HL il 10998.5 1870.55
Wby | A XA L 10kV537 H AR 2k 110KV K 4 A L 9563 613.8

by | R R AR X HL A 10kV 812 14 £k 110kV b 35 A8 L il 8694.9 933.92
Wby | R A X H A 10kV 82134 £k 110KV A A2 L il 8487 1292.9
Wy | ERE AR X tE A F | 10kve183L4R i 1T £& 110KV A A2 HL il 8487 1942.8
Ty | R X LA 10kV5597 B4 £; 110KV K 4 A8 L 8712.2 2579.26
Wb | R T A Xt A 10kV5473 K 2% 110kV K 45 A2 HL ok 6668.4 3193.12
Wrbng | R A Xt E A 10kV 8284 A< £k 110KV A A2 L 3l 8487 1033.4
wohy | A X A 10kV 7234 FE 2R 110k VL FH A2 HL 8487 7151.4
Wb | R bR 2 Xt H A 10kV8127: 14k 110kV i A AR HL 2 7880.8 7.04

Wb | o A X L 10kv814fd [X T £k 110KV - 35 4% F 6235.4 1141.62
Wb | R A Xt E A 10kV 7 T3k k579 110KV A+ A2 L ik 8487 1919.2
b | R A (XA A 10kVE A £:510 35KV £ A B 5802.4 73.92




2025 (=FF) BT LRBEERITTFRER

FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
oy | A X A A 10kV 83315 4 d £k 110KV A A2 HL il 9526.3 0.04
o | R R k2 XA A 10kV71174 i 11 2k 110kV JE FHAZ H v 9179.9 0.02
Wb | E R T A XA A 10KV 757 [ 3k 4k 35KV Ja BH A% L 9179.9 0.02
T | R R AR XA 10kV 7533k FH £k 35KV Al B A% Lk 6322 0
Wby | R TR A XA A 10kV 7345H BH £& 35kV i BH A2 HL i 2598.1 0
wohp | R R k2 XA A A 10kV 7581k 7 £k 35KV il FH A2 H 10738.7 0
o | R TR A Xt E A 10kV7617 Ll £; 35KV it {1 22 FL 10738.7 0
Wby | R A X H A 10kV5857K 75 £k 35kV 7K 7548 B v 10738.7 0
Wby | R R A X AL L ] 10kV 5563 4 £k 110kV AR 7842 H il 4849.7 0
Loh | R X 2 10kV 817 b5 2% 110kV | 3% 28 L 10998.5 0
o | R K 2 Xt H A 10kV5463 16 2k 110kV K 4542 HL ol 2598.1 0
by | R TR A X L 10kV 8035 Kk £k 35KV IR A HL B 7274.6 0
e P e 7 A2 X AL H 2 ] 10kV 704 ) 2% 110KV b FH 22 H i 8487 0
oy | AR XA A 10kV 75645 i 2% 35KV it B A2 HL 9179.9 0
Wby | R Tk A XA L A 7 10KV 564670 25 110kV K742 HL o 5542.6 0
T | R T A X E AN ] 10kV827 K jik 11 £ 110kV B A AR H 10565.5 0
wohi | R R A X AL A 10kV5735 1k £k 110KV HT AT AL L 32l 9179.9 0
Wby | R A X A A 10kV805/)™ [12% 110KV i A+ 22 HL i 10998.5 0
R | R A X H A 10kV 707 A+ 2% 110kV b BHAZ HL i 6322 0
W | R A X E A ] 10kV 7084 f+f £k 110kV Jb BHAZ H 6322 0
2 A o R A VI B A 10kVo47:F I 1 £k 110KV 38 HL il 10565.5 718.5
Wby | RS R VR X S 10kV1L 228753 35kV AR AL L v 10911.9 1264.92
T b 7 oA % o T A VR I B /A 10kV 70615 X £k 110kV 5 A+ 22 L ok 10911.9 3297.52
Wrhng | R R VXK A E 10kV5197K B £¢ 35KV 5K PRAR B 10911.9 496.92
2 i RS2 e 7 A X At B 2 10kV6197F 1 4k 35KV AR FHAZ L 10911.9 1058.52
i o % F T A G IX R L A 10kV7044% %% 2% 110kV A AR HL 2 10565.5 1270.47
2 th iy R o A VR X At E 2 10kV541HR i 2% 110kV 7K JFEAZ Lk 9563 953.2
o T oA 2 e T A I B /A 10kV 7243 #4 11 2% 110KV A+ A2 L ik 6235.4 96.02
o o 3 c R A ¢ I A R A 10kV514 5 1+ 2% 35kV 7K PRAZ HL Uk 10911.9 1819.12




2025 (=FF) BT LRBEERITTFRER

BERE/RAMERE| B RS
INT ¥

R R B A 2 15 45 2 Ak (MVA) Won B
ofrili | B KK G AT | 10kVS220 35KV kKA L 10911.9 209949
Boprili | B KK G AT | 10kve3a Rl I 4k 110KV 1 25 H 2598.1 725.18
eofril | B R G AT | 10kvo36RIEILE L10KV AT 2 R 8 77942 3%
ol | R KK G AT | 10kvesah ik 35KV 109119 oL
By | BRI Gt AT | 10kVOeSHLE I £ L10KVATHR 22 L 3 77942 %579
ol | B KK Gt AT | 10kVS33ERT 110KV & HERE 10911.9 257332
g % T A kXA LA 10kv9317 fil IT £& 110KV 15 38 FL ik 5802.4 1022.82
ol | SRR G AR | 10KVeSSTRALL 3KV B L 10911.9 1333.62
B | B R Gt AT | 10kvS21 R 1T 2k 35KV SRR 51962 10406
Boptr | EREARKK AT | 10kvS30lbE: 110KV &1 5 B 2 H 10565.5 189859
ool | B A G AT | 10kVE38H 7L 3kVIE R 10911.9 o6l
ol | R IR G AT | 10kvo2oK gk 120KV 1 35 H 5802.4 461.12
Bofrili | R R Gt AT | 10KVSSIABEL 110KV & HERE 10911.9 2697.49
S ep | b R LK A 10kv632 It 11 2% 35KV HE 128 HL i 10911.9 1714.12
Bofrily | B R R Gt AT | 10KVEL7HIEL 3KV AR MR 109119 1288.62
Peopl | T AR G AT | 10kVes4BTR 114 35KV HE TR L 10911.9 147901
ol | KK G AT | 10KVST2HET 110KV 15 32 Hi i 40703 809.24
Bofrily | R AR Gt AT | 10kves2 Ik 35KV I TR AL 10911.9 002
Peofrl | B A G AT | 10kvSA0S L T £ L10kv K HEZZEFL 5 69282 1312:46
Boprli | ERE IR G AT | 10kVes3TELL 35KV SR L 10911.9 12661
BT | AKX Gt AR | 10kvB93L: L10kV AL 25282 # 51962 201895
B | S KK G A | 10kvessIITIL: 110KV 1 2 i 6928.2 3352.35
Bl | RS G AT | 10kVS6ORI T4k 110KV {5 307 i 3 40703 3880.04
Peoprl | B A G AT | 10kveoRRidE 1 £ L0V 22 H 5 2591 175198
ol | B KK G AT | 10kVAT4ses 110KV 15 32 Hi 10911.9 891.62
el | SRR G AT | 10kVeSTHh L 35K/ RS Ha 7794.2 %0.26
B | R IR G AT | 10kVTSATIE 35KkV 45 6825 1 7014.8 596.44
by | O e T A X A A 10kV738ii HI £k 120KV A+ 22 L 0 9563 774
Bopl | ERE AR AT | 10kVaS3EIL: 120KV 1 25 i 7794.2 513.86




2025 (=FF) BT LRBEERITTFRER

FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
Wby | R A X A N 10kvo15 st 1 £k 110KV RS 28 H il 6235.4 614.02
oy | R A XA R 10kV 71470 [ 25 35KV 1 < 112 L v 6928.2 1747.16
by | R R R VXA A 10kV614 Z 4L 35KV 4R BHAZ L 10911.9 2038.22
o | R T R v Xt B 10kv815db i 1T 2k 110kV 7R 5842 HL il 10911.9 1026.32
Wby | R AR X A N 10kV86LHT % £k 110k V R 28 H il 10565.5 2992.6
b | R R R VR XA A 7 10kV i 155 22616 35kV AR FH AR L 10911.9 1307.12
o | R b R v Xt E N 10kV 93047 J £k 110kV 1S AR HL o 2598.1 1261.88
Wb | R R R v Xt A 10kV 85415 2% 110KV R B AR L il 10911.9 3035.17
Wby | R T AR X A N 10kV561 L1 YT.2k 110kV 7K FEAL HL il 7794.2 816.06
wohp | R R R VR XA A 10kV 6278 i £k 35KV REAR B 6928.2 385.55
Wby | R e A VR Xt H A 10kV 7030 2% 110kV 5 A+ 22 L il 10565.5 1242.07
Wby | R A v X H A 10kV 8557t K 2k 110KV S B AR L il 10565.5 1622.6
bl | R T R VR XA A 10kV53971 A 1114k 110kV 7K K32 HL il 10911.9 2434.62
Ty | X R R X E 2 10kV 7153k T 2% 35KV 5 4 1L AR L 10911.9 3381.91
Wb | R ARV X A N 10kV/51574 Ji] £& 35KV 5K PR A L 10911.9 1684.32
Wrbng | R T A VR Xt B 10kV5677 €l 11145 110KV K 27 fre] 22 L i 11194.1 414.08
b | R R R VR XA A 10kV584 7 T~ 11 £k 110kV {2 3038 HL il 6928.2 1636.76
Wby | X AR X A LA 10kV 708774 i 2% 110kV i A AR HL 10911.9 1531
Wb | S iR X e A E | 10kv7237R AL 11 4k 110KV T A+ 22 L ol 9563 21
Wb | R R A X H A 10kV659 3 F:2; 35KV /)N BRA AR 10911.9 0.02
oy | R T A X A A 10kVIKIR £ 624 35kV K BEAE HL Uk 10911.9 0.02
Wby | RS R VR X S 10kVb H £k653 35kV /INEX AR HL 10911.9 0.02
BT | A XA L ] 10kV 6253 F2 £k 35KV K AEAR F 6841.6 0
o | R T R v X E N 10kV 92615 F 11 2% 110KV R B AR L il 7794.2 0
b | R R R VR XA A 10kV55771 & 11 £k 110kV 7K FRE A2 HL ki 6928.2 0
bR | R R R X H A 10kV933[RE 11 £k 110KV 1t B 2% HL ik 10565.5 0
Wby | R e A v Xt H 2 10kV 7243 £ 11 £& 35kV & 4 111 A2 HL vk 10911.9 0
Wby | R R A X H A 10kV 763 74 75 2% 35KV AR R4 L 2598.1 0
by | R R R VR XA A 10kv835rg M 11 £k 110kV 7R 5048 HL il 10911.9 0




2025 (=FF) BT LRBEERITTFRER

FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
Wby | R o A X AL A 10kV538FF & 1 2k 110kV 7K FEAZ L il 9563 0
i A o R A VI B A 10kV 9483 1T 2k 110kV HT AL L 2k 6928.2 0
b | R AT X A A 10kV756 Z 1 £; 35KV AR EX AE L 10911.9 0
o | R T R v Xt B 10kV 86278 [ 2% 110kV 1S AR H 4070.3 0
by | R o A X AL A 10kv 884t i £k 110kV I RBAZ L ik 10911.9 0
b | R R R VR XA A 7 10kV545 7K IF £& 110kV 7K FEAZ HL ok 9563 0
o | R b R v Xt E N 10kV560FF & IV £k 110kV 7K JFE A2 FL o 10911.9 0
Wby | R A v Xk H A 10kV737F #h 2% 110kV 5 A+ 22 L il 10911.9 0
by | X A A X i A 10kV505 R £ 2% 110KV 41 1 75 A2 L i 10565.5 0
2 RS e A X At B 2 10kv8381t. T. 11 £k 110kV AR 3B AR HL v 10911.9 0
Wb | R T R v Xt E N 10kV 856K A+ £k 110kV 1 AR H 10911.9 0
Wby | R A v X H A 10kV 962 H el 2% 110KV T A2 L il 7794.2 0
Wby | R T AR X A N 10kV 72983 el 1 2% 110k VT A+ A2 HL il 7794.2 0
Wby | R T AR X A N 10kV734 5 25 110kV i A AR HL 2 6928.2 0
by | R e R X A E A 10kV'7264% H: 2% 35kV & & 11 AR HL Bk 10911.9 0
Wrhng | R TR VX A R 10kV511J M2k 110kV 41 5 & AR HL i 7794.2 0
Wb | R e AR X A N 10kV527 & %145 110kV 4T 5 & A HL il 7794.2 0
Wb | R o ARV X A N 10kV955 %< 4 2% 110kV HT IR AZ L 2 10911.9 0
Wby | R T R R XA L 10kv6261LT 2% 35KV K AR LB 10911.9 0
o | R T R v X E N 10kV7145EFF T 2% 110kV A AR H 11194.1 0
oy | EE R X AT | 10kv714K R 1 4k 110KV H7 £+ 22 HL i 7794.2 0
Wb | R bR R v Xt R 10kV737) %214% 110kV HT A A2 HL ol 9563 0
by | R R VR XA L 10kV53178 5 2% 110KV 2L 5 5 AR H iy 10565.5 0
Wby | R R A X H A 10kV613% ¥ 2% 35kV 4< BH AL HL 10392.3 0
by | R R R VR XA A 10kV 9541k £& 110KV HT AL i il 10911.9 0
| R R T R Xt A 10kV 569 F 11 2% 110KV K27 el 22 FL v 7794.2 0
o | R T R v Xt E N 10kV548J7d FF 12% 110KV K 2 el 22 HL ok 7794.2 0
Wby | R R A X H A 10kV 85870 V4 2% 110KV R AR FRL il 10911.9 0
Wby | R e T AR X A N 10kV508 HLFHZL 110KV 4L 5 & AR HL il 7794.2 0




2025 (=FF) BT LRBEERITTFRER

FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
Wby | bR R X A R 10kV525HLRHIZE 110KV 2L 5 & AR HL il 11194.1 0
b | R R R R VR Xt R 10kV716% i [ £k 35KV & <5 111 AR H i 4330.1 0

T b i [ ) % A LA A ) 10kV 9637 It 2% 110kV 5 Al AR HL ik 7014.8 3343.03
SIeeE] W R B it E A 7 10k V7K & 2962 110kV 5 F1AZ H 10738.7 1536.96
BIAEN WA 7 A5 L H N ] 10kV827 )5 B 11 £k 110kV R A7 48 H il 7014.8 1097.44
2 W R 47 B it A 7 10kV 7044 = 2% 110kV A= SCAZ i 3k 3879.8 260.74
2 i [ R 7% 5 Lt H N ) 10kV 8087 T4k 110KV R 148 FL i 5507.9 1176.22
o W R B it H N 10kV 8245 1 2% 35KV B 4l A8 Hi 2598.1 637.58
2 W 7 A Bt E A ] 10kVH 55 £ 703 110KV A~ SLAR HiL 6581.8 222.94
2 [ ) R A B H A ] 10kV 5 22983 110kV 5 ZX FE AR HL 4763.1 314.98
EERNiEl W R AT B A 10k Vit S £k 845 35KV 5 VAR H 6408.6 478.18
i W 5 Bl e & 10k V3, e £:.853 35KV FR I 11142 HL 2598.1 943.47
2 o iy [ /4 R A B H A ] 10kV ik e 1125867 35KV AR U 11138 H 10392.3 608.54
2 rh i W R A B H A ] 10kV8664C 4k 4k 35KV A AR Hi i 7880.8 1104.74
Wb Ty [ W R A B A A 7 10kV 81331 11 £; 110KV R 148 FL i 2598.1 2380.88
2 WA 7 A5 EL A H 0 ] 10kV809# i £k 110kV R A7 42 H ik 2598.1 639.58
2 o WA 7 A5 L H N ] 10KV #4511 26507 110kV Fg AL L 31l 2598.1 814.98
o W 5% A7 LA H A ] 10kV 5 12k 956 110kV £ FIIAZ H 5 2598.1 603.73
B W R A7 A ] 10Vt £ 844 35KV P I AL FL 5196.2 548.86
3 T W 52 5 Bt H 2 10kV 8353 1+ £& 35kV B 4l Hi ik 5507.9 810.82
2 [ ) 7 A7 B E A 10kV 5 114585 110kV 3 AR HL il 8313.8 1941.14
& i W R A Bt H 2 7 10k VI 45 28504 110KV B K AR HL 3464.1 1477.98
2 th iy [ ) 7 5 L H N ) 10kV7051~ X £k 110k VA~ AR FL ik 6581.8 767.64
o T W R A Lt H N 10kVHEIH £k 576 110kV 5 AR HL il 6148.8 2116.04
2 W 53 A Bk H A ] 10kVE% H 4825 35KV B AR H i 6339.3 318.84
i W R A Bt H 2 7 10kV8729h X £& 35KV A 1148 Hi 5196.2 220.06
o iy [ /4 R A B H A ) 10kv8074 17 1 £k 110kV R £ 22 Lok 2598.1 2483.78
o T WA 7 A5 L H N ] 10kV 7] Y5 £k 850 35KV g VAL L 6235.4 1148.62
% o 7 W 53 4 EL it F A\ 10kV574K P 2% 110kV 3 AR HL il 5629.2 1054.36




2025 (=FF) BT LRBEERITTFRER

FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
% o 7 [ ) 7 7 B H A 10kV 1% 75 4l £k 864 35KV 2 U 1Ly AR L 2598.1 683.98
& rh [ R 7 5 L H 0 ) 10kV I T T12£ 815 110KV R A7 48 HL 2598.1 2041.68
2 i [ /) 72 5 Lt H 0 ) 10V Pt 2 843 35KV [ VAL L 2598.1 741.08
o i [ /) R A B B A 7 10kV RS X £k 508 110kV B S AL HL 2598.1 814.67
2 [ ) 7 A7 B e 10kV 5 H1£k 964 110kV Iy 1AL H 10738.7 2159.96
2 [ /R A B H A ] 10kV 55 T.£k965 110kV 5 F1AZ H vk 9093.3 2701.43
o T [ Y 7 A7 B H 0 ] 10kv814 —F —4; 110kV R A7 22 HL vk 9563 1364.5
T th iy [ W R A B A ] 10kV I 26837 35KV 5[] H i 9405 414.9
2 [ ) 3R A B E A ] 10kV577%R X 1%k 110kV 5% AR L il 8313.8 1478.24
2 [ W 7 5 L 0 7] 10kV 7§ F H1 £k 830 110KV R A7 48 HL i 7101.4 1811.52
2 th iy [ 7 R A B H A ] 10kV864%¢ H £; 35KV A 148 H i 5802.4 829.72
i [ W R A Bk A ] 10kV /)N i 5K £k 865 35KV FR I 11142 HL 2598.1 553.38
o [ W 7 45 L H 0 ) 10kViz & 2573 110kV 5% AR L il 8487 1226.4
2 rh i [ f R A B H A 10kV828 R 2% 2k 110kV R A1 A2 HL vk 6148.8 622.64
2 [ P 7 Bt H A ] 10k Vi 4< 2854 35KV # U 11 AR FL 6148.8 0
T T EIEEE Y s| 10kVZR 4834 35kV B[] 28 L 9405 0
2 o [ /] R A B H A ] 10kV 9707 F1 1125 110kV 5 1AL H il 7014.8 0
by [ ) R 7 LA F A ) 10kV721 =4 110kVAZ S AR H sk 5092.2 0
T o [ W R A B A ] 10kV836F4 LLI £& 35KV 5 [ 1AL H i 5109.5 0
3 T [ ) R A Bk H A ] 10kVHT I £: 824 110kV R A1 42 H ik 9563 0
% o 7 [ % 72 7 A H 2 ] 10kVE 424823 35kV B4l Az H ik 2598.1 0
2t ff [ W R A B A 7 10kV 5 Hr112k974 110kV I FN AR H 3 5975.6 0
CI [ W R A Bk A ] 10kVE %2 £: 826 35kV B 41 A% b 8677.6 0
2 th iy [ W0 72 45 EL A H 0 ) 10kV826)5 B T £k 110kV R A7 42 H ik 9563 0
% o 7 [ % 7 7 A A 10kV R ##££816 110kV R A7 48 H il 7014.8 0
i [ ) R A B H A ] 10kVF & 28509 110KV B K AL HL 2598.1 0
o 7 [ [ % A7 EL it H A ] 10kV Tk k804 110kV R A7 4% H ik 10738.7 0
W [ ) R A Bk H A ] 10kv985 75 1¥ £ 110kV 55 ZX FEAR HL ok 9526.3 0
% o 7 [ % 7 7 B 2 10kV74 SR 2575 110kV 5% (AR L il 7707.6 0




2025 (=FF) BT LRBEERITTFRER

FRT | FREfBAR 284 75 2 5 BEERRIMIAR| ARTT
T i W ST 328 EL it B 2\ ] 10kV747 T 4% 35kV I ELAR HL 8660.3 2251.94
b [E] X - 3 EL it F 0 ) 10kV 7233 17 £& 35KV 4 G AR HL 10652.1 385.78
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